Anx B - Work Completion Report

Company	MRGV		Name of contractor	Tara chand		Sl. No. site	bills reg.	470	
Project/site	BRGV		Nature of work	Flooring		Dt. site bills reg.		13-12-2025	
Block no.	Flat no-114		Work done from date	01-12-2025				13 12 2023	
WO no.			Work done to date	13-12-2025					
WO date			Contractor bill no.			GST bill re	equired?		
SI. No.	Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	Amount
1	Flat no-114	Flooring			468.00	sft	TF237	24.00	11,232
		Skirting			208.00	rft	TF237	24.00	4,992
		Toilet floor+wall tiles			356.12	sft	TF180	18.00	6,410
		Utility floor + wall tiles			74.80	sft	TF180	18.00	1,346
		Ledge wall + balcony gran	ite patti		26.00	rft	TF147	25.00	650
		chamfering			26.00	rft	TF215	15.00	390
								-	
	OVED	3			To	tal amount	including taxes	for work done	25,021

Approved by QS team

Sign:

Approved by project manage

Sign:

Approved by Director/E&D team

Sign:

MEASU	REMENT SI	HEET									
Work Description : Contractor:		MRGV	Approved by:		Sai kumar Reddy						
		BRGV		Sign: Work start date: Work end date: Date:							
		Tiles work				01-12-2025 10-12-2025 13-12-2025					
		Tara chand									
		K.Praveen									
			A	ВС		D E=AxBxCxD		F G= Sum of F			
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	units	Item Head Total		
1	Flat no-114										
	Flooring	M Bedroom(2' x2')	11.00	10.00	1.00	1.00	110.00	sft			
		C Bedroom(2' x2')	10.00	10.00	1.00	1.00	100.00	sft			
		Drawing & Dinning (2' x2')	15.66	10.00	1.00	1.00	156.60	sft			
		Kitchen passage(2' x2')	7.66	2.50	1.00	1.00	19.15	sft			
		Kitchen (2'x2')	9.50	5.50	1.00	1.00	52.25	sft			
		Balcony(2'x 2')	10.00	3.00	1.00	1.00	30.00	sft			
									468.00		
		Skirting of above all rooms	208.00	1.00	1.00	1.00	208.00	sft			
									208.00		
		M toilet floor tiles	6.66	5.00	1.00	1.00	33.30	sft			
		M toilet wall tiles	23.33	1.00	7.00	1.00	163.31				
		C toilet floor tiles	7.50	4.16	1.00	1.00	31.20	sft			
		C toilet wall tiles	23.33	1.00	7.00	1.00	163.31	sft			
									391.12		
		M & C toilet door deduction	1.00	2.50	7.00	2.00	35.00	sft	-3		
									356.12		
		Utility flooring	5.00	4.16	1.00	1.00	20.80	sft	7		
		Utility wall tiles	18.00	1.00	3.00	1.00	54.00	sft			
									74.80		
		Ledge wall top & balcony granite patti	26.00	1.00	1.00	1.00	26.00	sft	71.00		
		Chamfering	26.00	1.00	1.00	1.00	26.00				
		-						-			

ESTIMATE SHEET						Approved B	y	
Company Name:	MRGV					Sai kumar reddy		
Project:	BRGV							
Work Description:	Flooring							
Prepared By	Praveen.K							
Bill Date:	12-12-2025							
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks
1	Flat no-114	Flooring	468.00	sft	24.00	11,232.00		
		Skirting	208.00	rft	24.00	4,992.00		
		Toilet floor+wall tiles	356.12	sft	18.00	6,410.16		
		Utility floor + wall tiles	74.80	sft	18.00	1,346.40		
		Ledge wall + balcony granite patti	26.00	rft	25.00	650.00		
		chamfering	26.00	rft	15.00	390.00		
							25,020.56	

Labour Charges Tara chand MUHARPALLY Hyderabad

Date: 13-12-2025

In favor of:

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Flooring

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of world	k: Towards flat no-114 flooring work	
	-		10,008,40
	Total amount:	25,021.00	

Amount in words: Ten thousand eight rupees only/- only/-

Allowance For Consumables Tara chand MUHARPALLY Hyderabad

Date: 13-12-2025

In favor of:

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Flooring

Towards

Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of worl	: Towards flat no-114 flooring work	
			5,004,20
	Total amount:	25,021.00	

Amount in Words: Five thousand four rupees only/-

Allowance For Equipment Tara chand MUHARPALLY Hyderabad

Date: 13-12-2025

In favor of:

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Flooring

Towards:

Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work	: Towards flat no-114 flooring work	
			10,008,40
	Total amount:	25,021.00	

Amount in Word: Ten thousand eight rupees only/-